Idler Shaft

Z ZS mgrars—u

X?"JIJX
M M2 o PARS—LBHFEHLEBTITHERLEE L,
/ o FYRBLRURTUY T Dy vHE 2ETEBLTVETD,
5 °[Z— 25—
a f—- - - - - . [ZS|—RAF VL AE
b A K bz 5 o B LI 0 rons
L z zs

wiE PSR R

Fub ;{%‘QD’;_'\ME SUS304

FrmES ;%Z_D’)L’(_I\ME SUS304
HAz7+—s FEIRFIURE O o fEFB]
88 BRANFUYT D A bi M K b2 M2 s L (If) / \
26200-10 62001 10 85 (12 |M8x1.25 10 17 [M10X15 14 475 |0.05
26200-12 62001 10 85 (12 |M8x1.25 12 16 |M8x1.25 14 |485 |0.05 . .
26200-15 6200%1 10 85 |12 M8X1.25 15 17 M10X1.5 14 525 |0.06 (VSA | Az 7O sh 74k 5— [YEB]re—s=
26200-20 62001 10 85 (12 |M8x1.25 20 17 [M10X15 14 575 |0.06
Z6900-14 6900 1 10 55 (12 |M8x1.25 14 17 IM10x15 14 |485 |0.05
26201-12 62011 12 95 |14 |M10X15 12 20 |M10X15 14 555  |0.07 44 [YAC|Z5 1 KLs— i AN BRRITOT YT ARS—
26201-16 62011 12 95 (14 |M10X15 16 20 |M10x15 14 595 |0.07 - e <
26201-22 6201X1 12 95 |14 |M10%1.5 22 20  M10X15 14 655 0.08 oy \_' 9
26301-20 6301x1 12 115 |14 |M10X15 20 20 |M10x15 17 655  |0.09 .
26002-12 60021 15 85 (14 |M10X15 12 16 M8X1.25 17 505  |0.07
26002-15 6002X 1 15 85 |14 |M10X1.5 15 20  |M10X15 17 575 0.08
26202-11 62021 15 105 |14 |M10x15 11 20 |M10x15 17 555 |0.08
26202-16 62021 15 105 |14 |M10Xx1.5 16 20 |M10x15 17 605 |0.09
26202-22 6202X 1 15 105 |14 |Mm10x1.5 22 20  |M10X15 17 665 0.1
26203-15 6203x 1 17 115 |16 |M14x2 15 20 |M10x15 19 625 |0.13
26203-20 6203%1 17 115 |16 |M14x2 20 20 |M10x15 19 675 0.14
Z6204-17 62041 20 135 |16 |M14x2 17 20 |M10X15 2 665 0.16
26204-22 62041 20 135 |16 |M14x2 22 20 |M10x15 22 715 017
26201W-22 6201%2 12 195 |14 |M10X15 22 20 |M10x15 17 755 (0.1
Z6202W-17 6202X2 15 215 14 |M10x15 17 20  |M10X15 17 725 0.1
Z6202W-26 6202%2 15 215 14 |M10x15 26 20 |M10x15 17 815 |0.12
26203W-27 6203%2 17 235 16 M14x2 27 20 |M10x15 19 865 0.18
Z6203W-35 6203X2 17 235 16 |M14x2 35 20  |M10X15 19 945 (0.2
2Z56200-15 $56200% 1 10 85 [12  |m8x1.25 15 17 M10x15 14 525  |0.06
256900-14 5569001 10 55 (12 |M8x1.25 14 17 IM10X15 14 |485 |0.05
256201-12 556201%1 12 95 |14 |M10X1.5 12 20  |M10X15 14 555 0.07
256201-15 $56201%1 12 95 (14  |M10X15 15 20 |M10x15 14 585 |0.07
256202-11 5562021 15 105 |14 |M10x15 11 20  |M10X15 17 555 0.08
Z56202-16 5562021 15 105 |14 |M10X15 16 20 |M10X15 17 605 0.09

o REIETE Mg - MEAIIENBKUT T YA M ETELI TV,

Z 6201-16
O @7 - +—i% - #BULRLENT —
SRR

N\ NBK @E/i17y021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com N\ NBK @E/ir7vo21 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



